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* Please check that this question paper contains 11 printed pages.

» (“ode number given on the nght hand side of the question paper should be written on the
title page of the answer-book by the candidate.

* Please check that this question paper contains 30 questions,
= Please write down the Serial Number of the question before attempring it.

« |5 minute time has been allotted to read this guestion paper. The question paper will be
distributed at 10.15 am. From 10,15 am. to 1030 am., the sudents will read the
question paper only and will not write any answer on the answer-hook during this
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General Instructions :

(1) All guestions are cenrpnelsory.

(i} This question paper consists of 30 questions divided into four sections — 4, B,
and .

(fid)  Sectivn A containg 6 guestions of T mark each. mmﬂm b
2 marks each. Section € comtaing 10 questions of 3 marks each,
contains 8 questions of 4 marks each.

(vl There is no overall choice. However, an internal ehoice has been provided
twe questions of 1 mark, two questions of 2 marks, four questions @? ﬁ*-;.j
each and three questions of & marks cach, Mhmwwﬁyﬂ
altermative in all such guestions, 5

LW Useof calowlator is mot permitted.

e - o
SECTION - A

W T | H G T el e | S R
Question numbers 1 mﬁ-ﬁn'_y--l ‘mark each.

| L wmgefemmaEmQ, 08, wes e AR T
farg A % Friame s itfm |

Find the coordinates of & point A, where AB . .E _. ¢ .
centre is (2, —3) and B is the point (1, 4), '

2. k% e 3 fon R o ek = 0 8 e s o
uEn

& 1 95 W W i Fork oo anfm hi-lﬁia-nt‘?

s

For what values of &, the reots of the equation a':’ .4 = () are real?
Or

Find the value of & for which the roots of the uﬁVhi-mﬂ-i

reciprocal of each other,
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3, af# tan 24 = cot (A -24") B, A A T WA FE e |
Her
(sin? 33" +5in® 57" ) T WF T Fif )

Find A if tun 2A = ot (A -24")
Or

Find the value of (sin” 33°+sin® 57")
4. o= e wend a9 w07

How many two digits numbers are divisible by 3 7

S, HIEW 14, DE||BC, AD = | ¥l 8 BD = 2 @1 8 | (A ABC) ¥ (A ADE)
5 Frmet o Fa s B

A 1
In Fig. 1, DE||BC, AD =1 cm and BD = 2 cm. What is the ratio of the

ar (A ABRC) to the ar (A ADE) 7
A

Fig. |

6. 2 #m 3 & a3 R u i de e Hi |
Find a rational number between 2 and 43,
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SECTION-B
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Question numbers 7 to 12 carry 2 marks cach,

[B

9.

10,

YTs TN F O @ 1260 A9 7344 F1 wENR wEwEdE (HCE) Wm
itfa |

STEET
waiyy, % weliw fom wmqols (4q41) wem (49 < 3) & w0 oW A B wel g
i i 2 |
Find the HCF of 1260 and 7344 using Euclid’s algorithin.

Or

Show that every positive odd integer is of the form (4g+1) or (44 +3), where
g 15 some integer.

HHIE 4 3, 15,27, 39, ..., HEA TB R 20 W E 120 A 7

HegE
% U T AT ® =T g T W A S, S, = 30% - dr G0 TR 8, A
w1 o ST =hifam |

Which term of the AP 3, 15, 27, 39, .... will be 120 more than its 21st term 7
Cir

If S,,, the sum of first m terms of an AP is given by 5, = In? ~4n, Find the mth
berm.

Frgat (1, - 3) 7en (4, 5) F Prert aren e, v T frg SR A
Rratfsra € 2, = 319 i | oo F 7 fig 5 B ot e Hifem

Find the mtio in which the segment joining the: points (1, — 3) and (4, 5) is
divided by x-axis ? Also find the coordinates of this point on x-axis,

T G i 0 T o T =51 A A varen s & aft wis o vl fas
fera s B | 4fE o i qem R S T e 8 S ) wihen

I Shife |
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A game consists of tossing'a coin 3 times and noting the outcome each time. If
getting the same result in all the tosses is a success, find the probability of
loging the gnme.

U 918 U GH IS T () U S W S o (i) 2 997 6§ #E
o WA T W R, WIReEE e R

A die 15 thrown once. Find the probability of gerting a number which (i) is a
prime number (ii) lies between 2 and 6.

e = w1 i, aff wiE a3 £ (3-0) 20 12x oy —e =0
FTIA #0 H FF TR |

Find ¢ if the system of equations cx+3v+{(3-e)=012x+ey—c=0 has
mfinitely many solutions 7

WU -9
SECTION-C

W HEA 13 H 22 6 U U 3 A R
Question numbers 13 to 22 carry 3 marks each,

13

14.

firg wifem e 2w arafis dem @
Prove that u"i is-an trrational number.

uf JETE - (k4 6)x 4 22k ~ 1) F TERI ) A T IR v A
k 31 T T i |

Find the value of & such that the polynomial x* —(&+6)x+2(2k —1) has sum
of its zeros equal to half of their product.

i s aE A A amFam b dr P e ) s F owEm
Tl AR T R A F A g gaE el fren B adnE g 9w
Hifm |

AdE
s i % T I B, 99 36 A9 A 2 e 8, v ae 12 7w b, wE
og | TernEm | 98 e At
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16.

17.

I8,

A father’s age Is three times the sum of the ages of his two children. Afier 5

years his age will be rwo times the sum of their ages. Find the present age of
the father,
D

A fraction becomes % when 2 15 subtracted from the numerator and it

becomes %whm | 15 subtracted from the denomnator, Find the fraction.

y-3ey o1 g Ty e e = Figad (5, 2w (-3, D W wmgTm

et
fagadl A(2. 1) B(S, —8) 1 e aren e fgai p A o w amfnafam
g & atw P g A& Pz ¥ 3l p, 20— p4k=0 g waa m w o) fEm
B, i o e e Fif |

Find the point on y-oxis which is equidistant from the points (5, =2) amd
(=3.2).

Or
The line segment joining the poins A(2, 1) and B(5, —8) is trisected at the
points P and Q such that P is nearer to A. If P also lies on the line given by
2x - y+ k=0, find the value of &,

ﬁﬁiﬁﬁ'ﬂ.ﬁ (sin @+ cosec IEI'}2 +{cost+ m:ﬂl]J =7+tn 0+cot" B,
=

o IR 3 (14 cot A—cosec A) (1+tan A +sec A) =2
Prove that (sin 0+ cosee 0 +(cos B+ sec8)? = 7+ tun” B+ cot” 8,

Or
Prove that (1+cot A - cosec A) {1+ tan A +sec A) =2

WM 2 8, O FZ a0 5 B B F
T g 8 E e u e pQ B
PR QumiEd s g 1w
vz wt &1 TP @ dEd e
=i |
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In Fig. 2, PO 15 a chord of length B cm
of a circle of mdius 5 cm and centre O
The tangents at P and Q intersect at
point T. Find the length of TP.

Fig. 2

19. FR 39, £ ACB =90 a1 CD L ABY, firg ifsm & cD2 = BD = AD.

C

D

SATE 3

e
gfe P wun Q #H: A ABC 1 yensii CA 81 OB w foum fig 8 o 2 C
weh &, At fem il 5 (AQ7 + BPY) = (AB? + POY)
InFig. 3, £ ACB=90%and CD L AB, prove that €D? = BDx AD .

C

~y
Fig. 3
| Or
If P and Q are the points on side CA and CB respectively of A ABC,
right angled at C, prove that (AQ® + BP?} = (AB? « pQ?)
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20. mﬁrdﬁ.mﬂiﬁmﬂﬁﬂéﬂmmﬁﬁq,nﬁhamﬁméﬁm
ﬁﬂﬂﬁﬂﬂﬂﬁﬁa’ﬂiﬂﬂﬁmhtliplmsﬁﬁﬂ

AT

Find the area of the shaded region in Fig. 4, it ABCD is a rectangle with sides
@ cm and 6 ¢m and O is the centre of circle. (Takem=3.14)

a1, 6 W= afte 1.5 o e e e A w0 filfi/we o e S w30
firz . e T awel ) o a oo, il fied % fe g wel e
gl Y Sl B © |
Water in a canal, 6 m wide and 1.5 m deep, is flowing with a speed of 10
km/hour. How much area will it imigate in 30 minutes; if § em standing water
{5 needed ?

72, e s WeA o ARE 1 i |

=1 0-10 | 10-20 | 20-30 | 3040 | 40-50 | 50-60 | 60-70

ATCAAAT 8 10 10 16 12 6 7

Find the mode of the following frequency distrnbution.
Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
Frequency 8 10 16 L6 12 6 T

IO 8




TUE -7
SECTION -D

W HE 23 B 30 O T 9 4 SR |
Question numbers 23 to 30 carry 4 marks each,

3.

25.

26.

300141 9 IP.T.O.

& 9rfl % A v a5 lgﬁﬂﬁﬂrEﬁilaﬁwwmhﬂ

WA H, T SITR AT TR B 2 U2 % e 6§ | T 99 2 o A 9w
W4 = we we difi
SRET

W AE 10 92 9 arn % sfger 30 B am o % smge 44 B w2013
e 8 @ a0 Tt am % wfige va 55 Bl % s e 2 am B
e /@ 1 e = § e g1 Fifm

Two water taps together can fll o tank in 17 hours. The tap with longer

diameter takes 2 hours less than the tap with smaller one w fill the tank
separately. Find the time in which each tap can fill the tank separately,

Or
A boat goes 30 km upstream and 44 km downstreéam in 10 hours. In 13 hours,
it can go 40 km upstream and 55 km downstream. Determine the speed of the
stream and that of the boat in still water.

e U WA A T T 9E s e 40 B AW vag 14 98 w5 A 2gn ¥
§6 At F 99T TE F G0 T A

If the sum of first four terms of an AP 15 40 and that of first 14 terms is 280.
Find the sum of its first » terms.

m%ﬂ Eil!l..‘l..—i.lﬂ&f-'h+|._ 1

sinA+cosA-1 secA—tan A
sin A —cos A +1 I
sitA +cosA -1 secA-tanA

Prove that

100 H F= UF 9L 5136 © 51 UF 918 1 & e 530 =4iw 2 foe 7 wge wew
% e % g S0 A 60° & 300 sew e v B 1 e uf Bz & o

wmaﬁr&qu[ﬁﬂ.?az#ﬁﬂ



27,

15,

19,

T
% 80 H W TEE % A A S -HE we S A = w6 R |
FH1 T % A TEE ¥ UE fag 9w o T S IE w600 s 300
B 1 it iy Sk si wi @ fag o < i
A man in a boat rowing away from a light house 100 m high takes 2 minutes
to change the angle of elevation of the top of the light house from 60° © 30"
Find the speed of the boat in metres per minute. [ Use /3 =1.732]

Or

Two poles of equal heights are standing opposite each other on either side of
the rond, which is 80 m wide. From a point between them on the road, the
angles of elevation of the top of the poles are 60° and 30" respectively. Find
the height of the poles and the distances of the point from the poles.

s fvm ABC 7 Ta i R A = 6 8l AB = § 8/ au SBAC = 45°
€ | 8 v a1 Bige )t i oyt AABC #0157 sl 5 %

T H

Construct a A ABC in which CA = 6 cm, AB = 5 cmand £ BAC = 45° Then
construct a triangle whose sides are % of the corresponding sides of
A ABC.

v & o % v $t ww A el v T w1 9EAE 123088 7 E 8
e I Fet geia fant i Bend s 20 At aw 12 @ E ) aed
Fad dun g w A Eft ang S s am i) (n= 3004 #ifm)

A bucket open at the top is in the form of & frustum of @ cone with a capacity

of 12308 8 cm”. The radii of the top and bottom of circular ends of the bucket
are 20 cm and 12 ¢m respectively. Find the height of the bucket and also the
area of the metal sheet used in making it, (Use n = 3.14)

freffmEwmaomm hEiwia el sad A sl samF
FAHEAI 2|

Prove that in a right angle triangle, the square of the hypotenuse is equal the
sum of squares of the other two sides.
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30, ufe e awawn dza w125 B9 4 qw g, % v i

1 ; 0-10 | ¥0-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | am
aRARA : | f, 5 9 12 /1 3 2 40
Hers
e e 5 100 Renfdai g uraiw AR o
AT | i) g den

05 2

510 5

10-15 6

15-20 B

20-25 10

2530 25

30-35 20

15.40 T

30-45 4

45.50) 2

UF H FH TR 5 ] ST g i | 3. nes i
[f the median of the following frequency distribution is 32.5. Find the values

of j; and f5.

Class 0-10 | 10-20 | 20-30 | 30-40 [ 40-50 [ 50-60 | 60-70 | Total
Frequency | £ 5 9 12 A 3 2 40
Or
The marks obtained by 100 students of a class in an examination are given

below,

Marks No. of Students
(-5 2
5-10 5
10-15 G
15-20 8
20-25 Ly
25.30 25
30-35 20
35-40 18
40-45 4
45-50 2

Draw ‘a less than' type cumulative frequency curves (ogive). Hence find

miedian
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